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Question Id : 68634021665 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Forty-one children were on Wednesday rescued from 12 toy factories in southwest Delhi's Azad Market.
Police sealed the factories on Ram Bagh Road and booked their owners.

The rescue operation was jomtly condueted by Bachpan Bachao Andolan (BBA). SDM (Kotwali) Daryagany.
the labour department. Bal Vikas Dhara and Delhi Police. All children are aged between 13 and 17 years and
belong to states like Bihar, JTharkhand and West Bengal.

The rescue teams said the children were living in "horrible” conditions. According to a member, "their clothes
were torn, and they were starved and overworked".

A 13-year-old boy, originally form West Bengal. said he and the other children would start their day around
9am and work t1ll 12 midnight—a gruelling 15 hours each day making toy parts at the factories. Afterwards,
they used to sleep in a cramped space inside the factory.

Terming it "a shame for the society”. BBA director Manish Sharma said, "Even after decades for achieving
mdependence. we haven't been able to free our kids from child labour. Children who should have been playing
with toys are making toys and working as slaves. Such incidents should make us all ashamed and angry."

In February this year. about 30 children working in various toy manufacturing units were rescued from
Wazirpur Industrial Area in northwest Delhi. Following this, Delhi high court had directed that a committee be
tormed under the supervision of the Delhi chief secretary and district DCPs. m close coordination with the
labour and women and child welfare departments and MCD., to inspect the premises of units that employed
child labourers.

Sub questions

Question Number : 1 Question Id : 68634021666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 15 the full form of BBA according to the given paragraph?
1. Bachao Bachpan Andolan
2. Bachpan Bachao Andolan
3. Bacha Bachao Andolan

4. Bachpana Bachao Andolan

Options :

68634085601. 1
68634085602. 2
68634085603. 3
68634085604. 4

Question Number : 2 Question Id : 68634021667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In what sense the word cramped is being used in this paragraph

1. Pamnful involuntary contraction of muscles

2

. Abdominal pain
3. Uncomfortably small or crowded

4. A tool, typically shaped like a capital G

Options :

68634085605. 1
68634085606. 2
68634085607. 3
68634085608. 4

Question Number : 3 Question Id : 68634021668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the opposite of the word 'gruelling' from the options given below?
1. Demanding
2. Relaximng
3. Grudgmng

4. Grubby

Options :

68634085609. 1
68634085610. 2
68634085611. 3
68634085612. 4

Question Number : 4 Question Id : 68634021669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of 'coordination’ s :

1. Ability to move in one direction.

2

. Ability to join different parts to form a picture.

Lad

. Ability to move different parts of the body smoothly and at the same tune.

4. To divide the atoms into its consitutent parts

Options :

68634085613. 1
68634085614. 2
68634085615. 3
68634085616. 4



Question Number : 5 Question Id : 68634021670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Child labour 1s prevalent even after decades and this 1 according to this passage.

1. A shame for our society.

[

. Shame for independent India.
3. Share for Delhi national capital

4. Shame for North-West Dellu

Options :

68634085617. 1
68634085618. 2
68634085619. 3
68634085620. 4

Question Id : 68634021665 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Forty-one children were on Wednesday rescued from 12 toy factories in southwest Delhi's Azad Market.
Police sealed the factories on Ram Bagh Road and booked their owners.

The rescue operation was jointly conducted by Bachpan Bachao Andolan (BBA). SDM (Kotwali) Daryagan;.
the labour department. Bal Vikas Dhara and Delhi Police. All children are aged between 13 and 17 years and
belong to states like Bihar. Tharkhand and West Bengal.

The rescue teams said the children were living in "horrible” conditions. According to a member, "their clothes
were torn, and they were starved and overworked".

A 13-year-old boy, originally form West Bengal. said he and the other children would start therr day around
Oam and work till 12 midnight—a gruelling 15 hours each day making toy parts at the factories. Afterwards.
they used to sleep in a cramped space inside the factory.

Terming it "a shame for the society”. BBA director Manish Sharma said, "Even after decades for achieving
mdependence. we haven't been able to free our kids from child labour. Children who should have been playing
with toys are making toys and working as slaves. Such incidents should make us all ashamed and angry."

In February this year, about 30 children working in various toy manufacturing units were rescued from
Wazirpur Industrial Area in northwest Delhi. Following this, Delhi high court had dirscted that a commuttee be
tormed under the supervision of the Delhi chief secretary and district DCPs. in close coordination with the
labour and women and child welfare departments and MCD. to inspect the premises of units that employed
child labourers.

Sub questions

Question Number : 1 Question Id : 68634021666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

What 15 the full form of BBA according to the given paragraph?

1. Bachao Bachpan Andolan

[

. Bachpan Bachao Andolan
3. Bacha Bachao Andolan

4. Bachpana Bachao Andolan

Options :

68634085601. 1
68634085602. 2
68634085603. 3
68634085604. 4

Question Number : 2 Question Id : 68634021667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what sense the word cramped is being used in this paragraph

1. Painful involuntary contraction of muscles

2

. Abdominal pain
3. Uncomfortably small or crowded

4. A tool, typically shaped like a capital G

Options :

68634085605. 1
68634085606. 2
68634085607. 3
68634085608. 4

Question Number : 3 Question Id : 68634021668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the opposite of the word 'gruelling' from the options given below?
1. Demanding
2. Relaxmg
3. Grudgmmg

4. Grubby

Options :

68634085609. 1
68634085610. 2
68634085611. 3



68634085612. 4

Question Number : 4 Question Id : 68634021669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of 'coordination’ 1s :

1. Ability to move in one direction.

[

. Ability to join different parts to form a picture.
3. Ability to move different parts of the body smoothly and at the same tune.

4. To drvide the atoms into its consitutent parts

Options :

68634085613. 1
68634085614. 2
68634085615. 3
68634085616. 4

Question Number : 5 Question Id : 68634021670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Child labour is prevalent even after decades and this 1s according to this passage.

1. A shame for our society.

2

. Shame for independent India.
3. Share for Delli national capital

4. Shame for North-West Dellu

Options :

68634085617. 1
68634085618. 2
68634085619. 3
68634085620. 4

Sub-Section Number : 2
Sub-Section Id : 686340708
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634021671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the antonym of 'Plenty’.

1. paucity

2

. multiply
3. conclude

4. richness

Options :

68634085621. 1
68634085622. 2
68634085623. 3
68634085624. 4

Question Number : 6 Question Id : 68634021671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of 'Plenty".

1. paucity

[

. multiply
3. conclude

4. richness

Options :

68634085621. 1
68634085622. 2
68634085623. 3
68634085624. 4

Question Number : 7 Question Id : 68634021672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of underlined 1diom 1n the following sentence.
Though she is a rich lady. she should cut down her expenses.

1. increase

| B

. reduce
3. borrow

4. lose

Options :
68634085625. 1
68634085626. 2



68634085627. 3
68634085628. 4

Question Number : 7 Question Id : 68634021672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of underlined 1diom in the following sentence.
Though she 1s a rich lady, she should cut down her expenses.

1. merease

2. reduce

3. borrow

4, lose

Options :

68634085625. 1
68634085626. 2
68634085627. 3
68634085628. 4

Question Number : 8 Question Id : 68634021673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

The house was broken into at midnight by the thieves.

1. The thief broke into the house at midnight.

| S

. The thieves have broken the house at midnight.
3. At midnight the thieves had broken the house.

4. The thieves broke into the house at midnight.

Options :

68634085629. 1
68634085630. 2
68634085631. 3
68634085632. 4

Question Number : 8 Question Id : 68634021673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct active voice form of the following sentence.

The house was broken into at midnight by the thieves.

1. The thief broke into the house at midnight.

[

. The thieves have broken the house at midnight.
3. At midnight the thieves had broken the house.

4. The thieves broke into the house at midnight.

Options :

68634085629. 1
68634085630. 2
68634085631. 3
68634085632. 4

Question Number : 9 Question Id : 68634021674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the following word :
ludicrous

1. ridienlous

[

. ereditable
3. humorous

4. serious

Options :

68634085633. 1
68634085634. 2
68634085635. 3
68634085636. 4

Question Number : 9 Question Id : 68634021674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the synonym of the following word :

ludicrous
1. ridiculous
2. creditable
3. humorous

4, serious

Options :

68634085633. 1
68634085634. 2
68634085635. 3
68634085636. 4

Question Number : 10 Question Id : 68634021675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identity the part of speech of the underlined word in the following sentence :
Are there any witnesses present ?
1. Article
2. Adjective
3. Adverb
4. Verb

Options :

68634085637. 1
68634085638. 2
68634085639. 3
68634085640. 4

Question Number : 10 Question Id : 68634021675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the part of speech of the underlined word in the following sentence :
Ave there any witnesses present ?

1. Article

[

. Adjective
3. Adverb
4, Verb

Options :

68634085637. 1
68634085638. 2
68634085639. 3
68634085640. 4

Question Number : 11 Question Id : 68634021676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s true about Anti-Defection Law ?
1. It was added as the 11th Schedule in the Constitution
2. It was added through 85th Constitutional Amendment Act

3. It was added as the 10th Schedule in the Constitution

4. Tt was added through 50th Constitutional Amendment Act

Options :

68634085641. 1
68634085642. 2
68634085643. 3
68634085644. 4

Question Number : 11 Question Id : 68634021676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s true about Anti-Defection Law ?
1. It was added as the 11th Schedule in the Constitution
2. It was added through 85th Constitutional Amendment Act

3. It was added as the 10th Schedule in the Constitution

4, It was added through 50th Constitutional Amendment Act

Options :

68634085641. 1
68634085642. 2
68634085643. 3
68634085644. 4

Question Number : 12 Question Id : 68634021677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MecMahon line marks the boundary of which two countries ?

1. China and Palastan

[ 2]

. China and India
3. USA and Canada

4. India and Bangladesh

Options :

68634085645. 1
68634085646. 2
68634085647. 3
68634085648. 4

Question Number : 12 Question Id : 68634021677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MecMahon line marks the boundary of which two countries ?

1. China and Palastan

[ 2]

. China and India
3. USA and Canada

4. India and Bangladesh

Options :
68634085645. 1



68634085646. 2
68634085647. 3
68634085648. 4

Question Number : 13 Question Id : 68634021678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[Kiran Desai [. Pnanapith Award
A run Alcash Dev II. MMan Booker Prize

F.abindranath Tagore| II1. |Sahitva Akadem: Award
Nilamani Phookan | IV. [Nobel Prize for Literature

|0 =]

Choose the correct answer from the options given below:

1. A-II. B-1., C-IV. D-III

[ )

CA-ITL B-L C-IV, D-II

AL B-IIIL C-IV, D-1

L ¥ ]

4. A-IIL. B-IV. C-I, D-II

Options :

68634085649. 1
68634085650. 2
68634085651. 3
68634085652. 4

Question Number : 13 Question Id : 68634021678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. [Kiran Desai [. Pnanapith Award
A run Alcash Dev II. MMan Booker Prize
F.abindranath Tagore| II1. |Sahitva Akadem: Award
. [Nilamani Phookan | IV. [Nobel Prize for Literature

o| ||

Choose the correct answer from the options given below:

1. A-II. B-1, C-IV. D-III

[ )

CA-ITL B-L C-IV, D-II

AL B-IIIL C-IV, D-1

L ¥ ]

4. A-IIL. B-IV. C-I, D-II

Options :

68634085649. 1
68634085650. 2
68634085651. 3
68634085652. 4

Question Number : 14 Question Id : 68634021679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One 1s lebelled as Assertion A and the other 15 labelled as Reason R.
Assertion A : One loses a day when he/she crosses 180° longitude east to west.

Reason R : The sun rises in the east and sets in the west and two places that are 15 degree of longitude apart
have a difference of 1 hour.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| B

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false

4, A 1s false but R is true

Options :

68634085653. 1
68634085654. 2
68634085655. 3
68634085656. 4

Question Number : 14 Question Id : 68634021679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Griven below are two statements ; One 1s lebelled as Assertion A and the other 15 labelled as Reason R.
Assertion A : One loses a day when he/she crosses 180° longitude east to west.

Reason R : The sun rises in the east and sets in the west and two places that are 15 degree of longitude apart
have a difference of 1 hour.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false

4, A 1s false but R is true

Options :

68634085653. 1
68634085654. 2
68634085655. 3
68634085656. 4

Question Number : 15 Question Id : 68634021680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Indus Valley sites is located in Pakistan ?

1. Harappa

[

. Alamgirpur
3. Kalibangan

4. Lothal

Options :

68634085657. 1
68634085658. 2
68634085659. 3
68634085660. 4

Question Number : 15 Question Id : 68634021680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Indus Valley sites is located in Pakistan ?

1. Harappa

2

. Alamgirpur
3. Kalibangan

4. Lothal

Options :

68634085657. 1
68634085658. 2
68634085659. 3
68634085660. 4

Question Number : 16 Question Id : 68634021681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are six statements, followed by four options of combinations of any three of the given sentences.
Choose the option 1n which the combinations are logically related :

A. All martians eat mutton.

B. All those who eat mutton are not Martians.
C. All those who eat mutton are herbitvorous.
D. Martians are carnivorous.

E. All those who eat mutton are carnivorous.
F. Martians are herbivorous.

1.LA.B.E
2.B.C.E
3 AED
4 A E.D

Options :

68634085661. 1
68634085662. 2
68634085663. 3
68634085664. 4

Question Number : 16 Question Id : 68634021681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are six statements. followed by four options of combinations of any three of the given sentences.
Choose the option in which the combinations are logically related :

A. All martians eat mutton.

B. All those who eat mutton are not Martians.
C. All those who eat mutton are herbitvorous.
D. Martians are carnivorous.

E. All those who eat mutton are carnivorous.
F. Martians are herbivorous.

1. A.B.E
2.B.C.E
3JACD
4 AE.D

Options :

68634085661. 1
68634085662. 2
68634085663. 3
68634085664. 4

Question Number : 17 Question Id : 68634021682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepak 13 Jaideep's son and Gomti's brother. Maya 1s Gomti's mother and Jyoti's daughter. Which of the
statements below 1s true?

1. Jyot1 1s Deepak's mother-in-law

[ ]

. Maya 1s Jaideep's mother

L 5]

. Jyoti 18 Jaideep's grandmother

s

. Jyoti 13 Deepak's grandmother

Options :

68634085665. 1
68634085666. 2
68634085667. 3
68634085668. 4

Question Number : 17 Question Id : 68634021682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepak 15 Jaideep's son and Gomti's brother. Maya 1s Gomti's mother and Jyoti's daughter. Which of the
statements below is true?

f—

. Jyoti 13 Deepak's mother-in-law

. Maya 13 Jaideep's mother

[}

. Jyoti 15 Jaideep's grandmother

LFN]

4. Jyoti 1s Deepak's grandmother

Options :

68634085665. 1
68634085666. 2
68634085667. 3
68634085668. 4

Question Number : 18 Question Id : 68634021683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Priya walks 5 metre towards west, takes a right turn and walks 5 meter again. She then takes another right tun
and walks 41 metres. She then takes a left turn and walks 43 metres before stopping. How far is she from the
starting point?

1. 80 metres

[

. 65 metres
3. 50 metres

4, 60 metres

Options :

68634085669. 1
68634085670. 2
68634085671. 3
68634085672. 4

Question Number : 18 Question Id : 68634021683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Priva walks 5 metre towards west, takes a right turn and walks 5 meter again. She then takes another right turn
and walks 41 metres. She then takes a left turn and walks 43 metres before stopping. How far is she from the
starting point?

1. 80 metres

[

. 65 metres

3. 50 metres

4, 60 metres



Options :

68634085669. 1
68634085670. 2
68634085671. 3
68634085672. 4

Question Number : 19 Question Id : 68634021684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will come 1n place of (?) in the series.
1,4,3,9,5,16,7,25,9,36,11, 7

1. 39

| )

.47
3.51
4. 49

Options :

68634085673. 1
68634085674. 2
68634085675. 3
68634085676. 4

Question Number : 19 Question Id : 68634021684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will come in place of (?) in the series.
1.4,3.9.5,16,7.25.9. 36,11, 7

1. 39

| ]

.47
3.51
4.49

Options :

68634085673. 1
68634085674. 2
68634085675. 3
68634085676. 4

Question Number : 20 Question Id : 68634021685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certaimn code language.
"Darsha bought new car” 1s written as "as ho mv st"
"Darsha and Sudha siblings" is written as "ua as nc gs"
"Sudha bought new bike" 1s written as "ua mv ho ik"
"Car and Bike super” is written as "ik nc st pu”
Which of the following is the code for "Darsha Bike Super" 7
1. gs ik ne
2. as ik pu
3. ho ik as
4, as ik ph
Options :
68634085677. 1
68634085678. 2

68634085679. 3
68634085680. 4

Question Number : 20 Question Id : 68634021685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code language.
"Darsha bought new car” is written as "as ho mv st”
] 4 2 2 "o ik " n
Darsha and Sudha siblings" 1s written as "ua as ne gs
"Sudha bought new bike" 1s written as "va mv ho ik"
"Car and Bike super” is written as "ik ne st pu"
Which of the following is the code for "Darsha Bike Super" 7
1. gs itk ne
2. as ik pu
3. ho ik as
4. as ik ph

Options :

68634085677. 1
68634085678. 2
68634085679. 3
68634085680. 4



Question Number : 21 Question Id : 68634021686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A single 6-sided dice 1s rolled, then the probability of getting an odd number 1s -
1.172
2.1/3

.

L8]

4.1/12

Options :

68634085681.
68634085682.
68634085683.
68634085684.

W N =

Question Number : 21 Question Id : 68634021686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A single 6-sided dice 1s rolled, then the probability of getting an odd mumber 1s -
1.1/2
2.1/3
316
4.1/12

Options :

68634085681.
68634085682.
68634085683.
68634085684.

AW N ==

Question Number : 22 Question Id : 68634021687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 49 students, the ratio of girls to boys 1s 4:3. If 4 girls leave the class, the ratio of girls to boys
would be -

1. 7:9

[

.78

87

LFS]

4. 89



Options :

68634085685. 1
68634085686. 2
68634085687. 3
68634085688. 4

Question Number : 22 Question Id : 68634021687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 49 students, the ratio of girls to boys 1s 4:3. If 4 girls leave the class, the ratio of girls to boys
would be -

1. 7:9

[

.78
3. 8.7
4. 8:9

Options :

68634085685. 1
68634085686. 2
68634085687. 3
68634085688. 4

Question Number : 23 Question Id : 68634021688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If income of A 1s 20% more than that of B. then income of B 18 how much percent less than that of A?

1. 10%

[ 2]

. 20%

3
3. 16=%
2

2
4. 16=%
3

Options :

68634085689. 1
68634085690. 2
68634085691. 3
68634085692. 4

Question Number : 23 Question Id : 68634021688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If income of A is 20% more than that of B. then income of B 18 how much percent less than that of A?

1. 10%

2

. 20%

3
3. 16="%
2

2
4. 16=%
3

Options :

68634085689. 1
68634085690. 2
68634085691. 3
68634085692. 4

Question Number : 24 Question Id : 68634021689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive odd positive integers 1s 9. Then sum of smallest and greatest number 1s -
1.4

2.3

4. 13

Options :

68634085693. 1
68634085694. 2
68634085695. 3
68634085696. 4

Question Number : 24 Question Id : 68634021689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive odd positive integers 1s 9. Then sum of smallest and greatest number i1s -
1.4

2.5

4. 13

Options :
68634085693. 1



68634085694. 2
68634085695. 3
68634085696. 4

Question Number : 25 Question Id : 68634021690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2.5 x =0.05 v, then find the value of [ 2 ] .
y+x

..
51

49
3l

_L_J

Options :

68634085697. 1
68634085698. 2
68634085699. 3
68634085700. 4

Question Number : 25 Question Id : 68634021690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2.5 x =0.05 y, then find the value of [ 2= ] .

y+x

.
51

49
51

_L_.l

Options :

68634085697. 1
68634085698. 2
68634085699. 3



68634085700. 4

Part B: Water Engineering and Management

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

686340430
2

Online
Mandatory
75

75

300

Yes

0

1
686340709
Yes

null

Question Number : 26 Question Id : 68634021691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the stream function equation w= 3x~ — y*. what 1s the magnitude of velocity at point (2.2)?

1.9

[ S
[
L]

4. 17

Options :

68634085701. 1
68634085702. 2
68634085703. 3
68634085704. 4

Question Number : 26 Question Id : 68634021691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ag 4RI BEH y = 3x2 — y* 6. dI 16§ (2.2) U 371 1 GRHT T § 2

1.9

[ ]

13

Lad
ey
L]

4.17

Options :



68634085701. 1
68634085702. 2
68634085703. 3
68634085704. 4

Question Number : 27 Question Id : 68634021692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Aggregates gives the maximum strength in the concrete,

1. Rounded aggregate

[

. Elongated aggregate

Lad

. Flaky aggregate

4. Cubical aggregate

Options :

68634085705. 1
68634085706. 2
68634085707. 3
68634085708. 4

Question Number : 27 Question Id : 68634021692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad § O ©F 91 W Yo Spie & Hedy Uaadl W Sdie 7
1. T
3. IRAGR
4. 94T
Options :
68634085705. 1
68634085706. 2

68634085707. 3
68634085708. 4

[ ]

Question Number : 28 Question Id : 68634021693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pascal- second is the unit of

1. Pressure

2

. Kinematic viscosity
3. Dynamic viscosity

4. Surface tension

Options :

68634085709. 1
68634085710. 2
68634085711. 3
68634085712. 4

Question Number : 28 Question Id : 68634021693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafarad fdeel § 4 uRed Jors feasi gams & 2
. ald/qdld (Pressure)
! Wﬁﬁﬁﬁ R dl(Kinematic viscosity)

RIGCRVIEE (Dynamic viscosity)

[a—y

| ]

T

4. YB d-ld (Surface tension)

Options :

68634085709. 1
68634085710. 2
68634085711. 3
68634085712. 4

Question Number : 29 Question Id : 68634021694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the dynamic viscosity of a fhuid 15 0.5 poise and specific gravity i1s 0.5, then the kinematic viscosity of that
fluid 1n strokes 13

1.0.25

[
=
Ln
=

L 5]
[
=

4.2.0

Options :
68634085713. 1
68634085714.2



68634085715. 3
68634085716. 4

Question Number : 29 Question Id : 68634021694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ofe Usp gl & TIfad THaT 0.5 9159 § SR MUf& U9 0.5 § ol Wiad | g9 1fadd war=dr & gt

1.0.25

| ]

. 0.50
3.1.0

420

Options :

68634085713. 1
68634085714. 2
68634085715. 3
68634085716. 4

Question Number : 30 Question Id : 68634021695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A vertieal triangular area with vertex downward and attitude 'h' has 1ts baas lying on the free surface of a
liquid. The center of pressure below the free surface 1s at distance of

1. /4
2.h/3

.h/2

L5 ]

4. 2h/3

Options :

68634085717. 1
68634085718. 2
68634085719. 3
68634085720. 4

Question Number : 30 Question Id : 68634021695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U JedleR HHU &3 forre /i Ad & 3R, $am W § 99T SR G0 &) e 9ds UR a3 | g
e & i <a1d BT D [T gl TR B -

1. h/4

| ]

L3
3. h/2

4. 2h/3

Options :

68634085717. 1
68634085718. 2
68634085719. 3
68634085720. 4

Question Number : 31 Question Id : 68634021696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum bulking of sand 1s likely to occur at a moisture content of
1. 5%

2. 8%

4. 14%

Options :

68634085721.
68634085722.
68634085723.
68634085724.

AW N~

Question Number : 31 Question Id : 68634021696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ge1 § 71 &1 98 ufaRrd &1 8 o R R Sifidan 81 & JuiaA g 2

1. 5%

| ]

. 8%
3.11%
4. 14%

Options :

68634085721. 1
68634085722. 2



68634085723. 3
68634085724. 4

Question Number : 32 Question Id : 68634021697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Surface tension of water

1. Increase with decrease in temperature.

| ]

. Decrease with decrease in temperature
3. Increase with increase in temperature

4. Is independent of temperature

Options :

68634085725. 1
68634085726. 2
68634085727. 3
68634085728. 4

Question Number : 32 Question Id : 68634021697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EREEEIGEICH
1. AU H HHl & gy Fgal ol

g o it & 1Y ged B

-

L]

 A9H H 9fE & 91y gear g

4, AgaH R FR 78 s

Options :

68634085725. 1
68634085726. 2
68634085727. 3
68634085728. 4

Question Number : 33 Question Id : 68634021698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In cement, generally the increase i strength during a period of 14 days to 28 days 13 primarily due to
1.C3A
2.C25
3.C38
4. C4AF

Options :

68634085729. 1
68634085730. 2
68634085731. 3
68634085732. 4

Question Number : 33 Question Id : 68634021698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTH TR W 14 &7 § 28 A 31 a@dll & SRA dide 3t ad 4 9 g&0 w0 d Fafafaa 4 9 faa
PRI Bl &

1.C3A

| ]

. G55

3.C58
4. C4AF

Options :

68634085729. 1
68634085730. 2
68634085731. 3
68634085732. 4

Question Number : 34 Question Id : 68634021699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Centre of buoyancy always
1. Coincides with the centre of gravity.
2. Coincides with the centroid of the volume of fluid displaced.
3. Remains above the centre of gravity.

4. Remains below the centre of gravity.

Options :
68634085733. 1



68634085734. 2
68634085735. 3
68634085736. 4

Question Number : 34 Question Id : 68634021699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SaTa s @ foru Fafifed d 9 s gel g 2
TSNl & dg I T Elal 6 |
faeniYd g0 & A1 & s o A1y FHT gl o |
TRIDY] & g I SHUR YT glar 3|
4. [EATDHY & g b -id FRUT GBI 8 |
Options :
68634085733. 1
68634085734. 2

68634085735. 3
68634085736. 4

[a—

[ ]

Lad

Question Number : 35 Question Id : 68634021700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The proper size of mould for testing compressive strength of cement 13
1. 7.05 cm’

. 10.05 em?

[ 2]

.15 em”

[ 5]

4.12.05 em®

Options :

68634085737. 1
68634085738. 2
68634085739. 3
68634085740. 4

Question Number : 35 Question Id : 68634021700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & gdieq gmed o1 wiiam o3 & fau te 9 &1 3fd aR &1 8-

q
1. 7.05 emr

| ]

.10.05 em?®
3,15 em?

4.12.05 cm®

Options :

68634085737. 1
68634085738. 2
68634085739. 3
68634085740. 4

Question Number : 36 Question Id : 68634021701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How high should a helicopter Pilot rise at a point A just to see the horizon at point B. if the distance AB 15 40

lem?

1. 101.75m

[

110,50 m

. 107.68 m

L 5]

4, 105.50m

Options :

68634085741. 1
68634085742.2
68634085743. 3
68634085744. 4

Question Number : 36 Question Id : 68634021701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hﬁ'@gﬁ AB'40 km © . O [6g 'B' UR (310 & R (31U Ush gl 19X RIS &1 U faig 'A' W fohaH]
$dlg dF Ia-1 9l l:-

1. 101.75m

| )

110,50 m
3.107.68 m

4. 105.50 m

Options :



68634085741. 1
68634085742. 2
68634085743. 3
68634085744. 4

Question Number : 37 Question Id : 68634021702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following methods of computing area assumes that the short length of the boundary between
the ordinates are parabolic arc?

1. Average ordinate Rule

[}

. Middle ordinate Rule

LFN]

. Smmpson's Rule

4. Trapezoidal Rule

Options :

68634085745. 1
68634085746. 2
68634085747. 3
68634085748. 4

Question Number : 37 Question Id : 68634021702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SFHE Bt VAT B B HEfaRad fafeat & 9 o Ot fafs s yron 9w snutid & o Peeie & &
ot I ot it TS Raas oidl 6 -

1. 319a 9999 fog
.70 999y (g9
o= 1 s

4. cUvIsSa Fad

Options :

68634085745. 1
68634085746. 2
68634085747. 3
68634085748. 4

[ ]

Lad

Question Number : 38 Question Id : 68634021703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If fore bem‘ing of a line 15 S45°32' € [assu ming there no local attraction), the back bearing of the line will be
1.552749E
2. 545°52'E
3. N45S08' E
4. Nag's2'w

Options :

68634085749. 1
68634085750. 2
68634085751. 3
68634085752. 4

Question Number : 38 Question Id : 68634021703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e fordi Ta1 &1 SETH! UHId $49°52' E §, (AF < [ ®is W eyl 781 8) df 39S 9! Y4
g E e

1. 552°45E

2.549°52'E
3. N4S'08' E

4. Nag'sa'w

Options :

68634085749. 1
68634085750. 2
68634085751. 3
68634085752. 4

Question Number : 39 Question Id : 68634021704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 15 the minimum number of satellites required from which signals can be recorded to enable a global
positionmg system receiver to determine latitude, longitude and altitude?

1. One
2. Two

. Three

L)

4. Four

Options :
68634085753. 1
68634085754. 2



68634085755. 3
68634085756. 4

Question Number : 39 Question Id : 68634021704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST, SRR R Halg HUiRG S & iy aaa o= ey (Kaex I S%al o el o &
[T 3a=gs SUUg! &1 <AaH = FT 8§ 2

1. U%
|
3.4

4. 9

| ]

Options :

68634085753. 1
68634085754. 2
68634085755. 3
68634085756. 4

Question Number : 40 Question Id : 68634021705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The method of flame testing commonly used for establishing the mstrument station is the method of
1. Radiation
2. Intersection
3. Resection
4. Traversing

Options :

68634085757. 1
68634085758. 2
68634085759. 3
68634085760. 4

Question Number : 40 Question Id : 68634021705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SUSH S5 | SITIAT & [T SR IR TN H1 ol ardll "Haao ug" fafer g -
1. fafezor

Hfdese

3. 3=

4, depHO

| ]

Options :

68634085757. 1
68634085758. 2
68634085759. 3
68634085760. 4

Question Number : 41 Question Id : 68634021706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A scale of 1 meh = 50 ft 1s mentioned on an old map. What 1s the corresponding equivalent scale?

1. lem=5m

[ 2]

. lem= 6m
3. lem= 10m

4, lem= 12m

Options :

68634085761. 1
68634085762. 2
68634085763. 3
68634085764. 4

Question Number : 41 Question Id : 68634021706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U QR4 9o UR U5 Seaid (a1 116 [ 1 59 50 BT & avlal § , Gled SHd e UHHT ol gR 2

1. lem=5m

[ ]

. lem= 6m
3. lem= 10m

4, lem= 12m

Options :
68634085761. 1
68634085762. 2



68634085763. 3
68634085764. 4

Question Number : 42 Question Id : 68634021707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 15 the volume of a 6m deep tank having Reactangular shaped top 6m X 4m and bottom 4m X 2m
(computed through the use of Prismoidal formula)?

1.96 m>

.94 m”

[ ]

.92 m°

faa

4.90m>

Options :

68634085765. 1
68634085766. 2
68634085767. 3
68634085768. 4

Question Number : 42 Question Id : 68634021707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IsHTIgS T YA 1 SUGRT DD . U 6 Hic 7T &1 ISR bl DI G- &1 gHT g FHU Udg &1
AT 6m X 4m § TY1 el BT HTHH 4m X 2m & -

1.96 m?

.94 m’

| ]

.92 m”

L% ]

4,90 m’

Options :

68634085765. 1
68634085766. 2
68634085767. 3
68634085768. 4

Question Number : 43 Question Id : 68634021708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A close contour line with two or more higher contours mside it will represent a
1. Depression
2. Hill
3. Cave

4. Well

Options :

68634085769. 1
68634085770. 2
68634085771. 3
68634085772. 4

Question Number : 43 Question Id : 68634021708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
21121 Y 3 TRl arell siE FH= W1 31 &l © 2

1. A94HA

| ]

3. e
4.P3il

Options :

68634085769. 1
68634085770. 2
68634085771. 3
68634085772. 4

Question Number : 44 Question Id : 68634021709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Offsets are

1. Lateral meaurements made with respect to main survey lines

[

. Perpendicular erected from chain lines

3. Taken to avoid unnecessary walking between stations

4. Measurements which are not made at right angles to the chain line
Options :

68634085773. 1
68634085774. 2



68634085775. 3
68634085776. 4

Question Number : 44 Question Id : 68634021709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& fera siadasifpge Fa da @ g
. 1% A& agHl & Hat 7 fahU 7Tu gr4ar

ORIE @ §491] T aEad

[e—

| ]

%]

WYE & did SFIGD 9a- J g9 & [

4. AT S ST T /S Y& S GHDI R Tl f[hd Sid g |

Options :

68634085773. 1
68634085774. 2
68634085775. 3
68634085776. 4

Question Number : 45 Question Id : 68634021710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the design of a cast iron member. the most appropriate theory of failure 1s

1. Moht's theory

[

. Rankine's theory

. Maximum stress theory

Lad

4. Maximum Shear Energy theory

Options :

68634085777. 1
68634085778. 2
68634085779. 3
68634085780. 4

Question Number : 45 Question Id : 68634021710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl dig ad & Yo Bl [Sulgd S H SUge [Awadl o1 9ad SUgHR [HGid o8 ?
1. igx &1 sid (Mohr's theory)
2.3 Rrgid (Rankine's theory)

3. 3ftepad wfdad RIGTd (Maximum stress theory)

4. AfIFHTH HI=T01 3o Rzid (Maximum Shear Energy theory)

Options :

68634085777. 1
68634085778. 2
68634085779. 3
68634085780. 4

Question Number : 46 Question Id : 68634021711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following related to determination of critical path in PERT

1. Event oriented slack

[

. Activity ortented slack
3. Event oriented float

4. Activity oriented float

Options :

68634085781. 1
68634085782. 2
68634085783. 3
68634085784. 4

Question Number : 46 Question Id : 68634021711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaied 4 9 & 91 fdeed pERT ¥ ‘Sifte oy & Ryl 3§ we&lia g -
1. Tl it v

3. feufq rftrfeoed wig

4. gicbaar A siftfa-aed wid

Options :
68634085781. 1
68634085782. 2

| ]



68634085783. 3
68634085784. 4

Question Number : 47 Question Id : 68634021712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to maximum Shear stress failure theory. yielding occur in the material when

1. Maximum Shear Stress = yield stress

2

. Maximum Shear Stress = 2 times yield stress
3. Maximum Shear Stress = 1/2 times Yield Stress

4, Maximum Shear Stress = +2 times yield stress

Options :

68634085785. 1
68634085786. 2
68634085787. 3
68634085788. 4

Question Number : 47 Question Id : 68634021712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYHaH SR=uul Yidad fahe [iGid & AR el gor & gl a4 idl o .od
1. B dd O=Uu gidgd= T14d Uided

AP dT =T Uidga=TR14d Afdead $I SR

 HfUB T HO=UU Uidga=2-014d Uided

4, BT HOF=TU Uidgo=2 TRIHT Ufdaa

Options :

68634085785. 1
68634085786. 2
68634085787. 3
68634085788. 4

| ]

L ¥]

Question Number : 48 Question Id : 68634021713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following project management techniques 1s deterministic in nature
1. CPM
2. PERT
3. GERT

4. LCES

Options :

68634085789. 1
68634085790. 2
68634085791. 3
68634085792. 4

Question Number : 48 Question Id : 68634021713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafRed & 9 S I gRaeH UayE do-® HodardEs Ui 3 6 -

1. CPM

| ]

. PERT
3. GERT

4. LCES

Options :

68634085789. 1
68634085790. 2
68634085791. 3
68634085792. 4

Question Number : 49 Question Id : 68634021714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In PERT Analysis, the time estimates of activities and probability of their occurence follow

1. Normal distribution curve

2

. P- distribution curve
3. Possion's distribution curve

4, Bionomial distribution curve

Options :

68634085793. 1
68634085794. 2
68634085795. 3



68634085796. 4

Question Number : 49 Question Id : 68634021714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PERT fa=eryor #, MiAfafial & 9o s aM SR S g &1 GR1aH1 & 09 &1 91 a6 a1 § 2

1. YHMH-Y ded deb

[

. B-deTam
. qU!EG.F‘EW deRu ddh (Possion's )
4. TgYgY e ab

Options :

68634085793. 1
68634085794. 2
68634085795. 3
68634085796. 4

[P

Question Number : 50 Question Id : 68634021715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cantilever beam of T cross-section carries uniformly distributed load. Where does the maximum magnitude
of the bending stress occur?

1. At the top of the cross-section
2. At the junction of flange and web
3. At the mid depth point

4. At the bottom of the section

Options :

68634085797. 1
68634085798. 2
68634085799. 3
68634085800. 4

Question Number : 50 Question Id : 68634021715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3R U sidve &IH/HTHERU] @] S BIE ( cross-section) T 5, 3R 48 9HM =Y ¥ [qdRd YR 954 Hdl
©. T §% O (bending stress) 1 TS TH GRATI Hol GHT 2

. 3R BT & }H )
. 31T 3R o1 & g fdg o®
w37 TS fig W

4. GSPad IR

[a—y

| ]

faa

Options :

68634085797. 1
68634085798. 2
68634085799. 3
68634085800. 4

Question Number : 51 Question Id : 68634021716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Slack time m PERT Analysis

1. Can never be greater than zero

()

. Is always zero for eritical activities
3. Can never be less than zero

4, Is minumum for critical events

Options :

68634085801. 1
68634085802. 2
68634085803. 3
68634085804. 4

Question Number : 51 Question Id : 68634021716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PERT & S H g o S ieu e d S gel 8 ¢
1. @t o g0 9 g1 18T 81 g
. GHl&TeTD Pl & faT gH=n Y Bidl 6|
3. Pl o = 9 Bier 81 81 weha|
4. fawa feufadi & fow =Aaa ST 3|

Options :
68634085801. 1

[



68634085802. 2
68634085803. 3
68634085804. 4

Question Number : 52 Question Id : 68634021717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the ratio of moment carrying capacity of a circular beam of diameter D and square beam of size D.

|

[

4 37

16

Options :

68634085805. 1
68634085806. 2
68634085807. 3
68634085808. 4

Question Number : 52 Question Id : 68634021717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafafad O 9 oH 91 98y o™ "D & U TR & 3R AR 'D' P U JNbR &1 P g

YqG- &A1 T FE U SRl & -

| A

[ ]

Ir
16

Options :

68634085805. 1
68634085806. 2
68634085807. 3
68634085808. 4



Question Number : 53 Question Id : 68634021718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the analysis of thick eylinder, the theory applicable 1s:

1. Lame's theory

[

. Rankine's theory

. Poisson's theory

Lad

4. courbon's theory

Options :

68634085809. 1
68634085810. 2
68634085811. 3
68634085812. 4

Question Number : 53 Question Id : 68634021718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

319 99 & fa=eur 3 foru FafaRad O 9 & 1 fasid angsidis 2
: Lame's)ﬁﬁm

. (Rankins 5)::{1-&7"1 &1 Risid

[a—y

| )

. [Poisson's) WlgWl &1 Ngid

Lad

4. (Courbon's) BTa- @1 RIgid

Options :

68634085809. 1
68634085810. 2
68634085811. 3
68634085812. 4

Question Number : 54 Question Id : 68634021719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Inorganic soil with low compressibility are represented by
1. MH
2. 5L
3.ML

4 LH

Options :

68634085813. 1
68634085814. 2
68634085815. 3
68634085816. 4

Question Number : 54 Question Id : 68634021719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad 0 9 $H 91 Ug 0 Juisyd ardl e a1 uiaHiia ear s 2

1. MH

| ]

. SL
3. ML

4. 1LH

Options :

68634085813. 1
68634085814. 2
68634085815. 3
68634085816. 4

Question Number : 55 Question Id : 68634021720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The critical hydraulic gradient (1.) of a so1l mass of specific gravity (G) and void ratio (¢) 1s given by

L G+1
o= | —e
5 3 G-1
T | +e
T G+1
= l+e

. G-1
= l—e

Options :

68634085817. 1
68634085818. 2
68634085819. 3
68634085820. 4

Question Number : 55 Question Id : 68634021720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U gaT U foraeT mufard v (G) & au1 RiGa M (o) § . 39! Hifde sa=iierd Yaurd ) a1 gt

1.i_:b+]

l-e

-1
l+e

(]
I

G+1

[F%]
—
[

l+e

Options :

68634085817. 1
68634085818. 2
68634085819. 3
68634085820. 4

Question Number : 56 Question Id : 68634021721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uniformity coetficient of a soil is

1. Always less than 1

[

. Always equal to 1

Lad

. Equal to or less than 1

4. Equal to or greater than 1

Options :

68634085821. 1
68634085822. 2
68634085823. 3
68634085824. 4

Question Number : 56 Question Id : 68634021721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 & §HEYI U © :-
1. 949 1 9 &H

Ted 1 & aXeR

| ]

3. U & eRfae 41 394 BH

4. T & TER 91 394 SU1a]

Options :

68634085821. 1
68634085822. 2
68634085823. 3
68634085824. 4

Question Number : 57 Question Id : 68634021722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a wet so1l mass. air occupies one-sixth of its volume and water occupies one-third of 1ts volume. The void
ratio of the soil 1s

[ ]
=
Lh
=

4.1.00

Options :
68634085825. 1



68634085826. 2
68634085827. 3
68634085828. 4

Question Number : 57 Question Id : 68634021722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i §a1 Uah Tiid Pal Yo o SIcH F1 ST U Rl 8 IR UHI 55$ T $I U [dgls HRTERAT g dl
HaT 4o o1 e Sf=a1d o1 8 2

1.0.25

| ]

. 0.50

0.75

L% ]

4.1.00

Options :

68634085825.
68634085826.
68634085827.
68634085828.

AW N ==

Question Number : 58 Question Id : 68634021723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The soil sample A and B have porosity nA= 40% and nB = 60% respectively. What 1s the ratio of void ration
€A ERY

1.2:3

[ ]

.32

.4:9

L]

4.9:4

Options :

68634085829. 1
68634085830. 2
68634085831. 3
68634085832. 4

Question Number : 58 Question Id : 68634021723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 7&1 & &l Tl A 3R B BT AT nA=40% TUT 1B =60% B, Al I 115 SFIUIT BT I (ea : ep ) T
BIIT?

1.2:3

2.3:2

4.9:4

Options :

68634085829. 1
68634085830. 2
68634085831. 3
68634085832. 4

Question Number : 59 Question Id : 68634021724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The predominant mineral responsible for shrinkage and swelling in black so1l 13

1. Ilite

[

. Kaolinite
3. Mica

4, Montmorillonite

Options :

68634085833. 1
68634085834. 2
68634085835. 3
68634085836. 4

Question Number : 59 Question Id : 68634021724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HUTHT GaT & HPpad Ud e o (o STRER! WG G- a1 6 ?
1. galec

@l

3. HYD

4. AiCAMRTMTEE

Options :
68634085833. 1

| ]



68634085834. 2
68634085835. 3
68634085836. 4

Question Number : 60 Question Id : 68634021725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The collapsible soil 15 associated with
1. Dune sands
2. Laterite soils

. Loess

Lad

4. Black cotton soils

Options :

68634085837. 1
68634085838. 2
68634085839. 3
68634085840. 4

Question Number : 60 Question Id : 68634021725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=g/ T g i & § -
1. fesar @
. Teres=t forgt
4. PIC HURT HaT /Salg/dorRl [Hg]
Options :
68634085837. 1
68634085838. 2

68634085839. 3
68634085840. 4

| ]

Lad

Question Number : 61 Question Id : 68634021726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A so1l sample having a void ratio of 1.3, water content of 50% and a specific gravity of 2.60, i3 in a state of

1. Partial saturation

2

. full saturation
3. Over saturation

4. Under saturation

Options :

68634085841. 1
68634085842. 2
68634085843. 3
68634085844. 4

Question Number : 61 Question Id : 68634021726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 U gal & 954 i Riga urd 1.3, S 911 50 UiRd Ud 191866 9@ 2.60 8.7 S9!
fFrafead § 9 <= &1 gt 2

R URGIR

IR ggftd

4. = |

Options :

68634085841. 1
68634085842. 2
68634085843. 3
68634085844. 4

fa—y

[ ]

Lad

Question Number : 62 Question Id : 68634021727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A so1l has a liquid linut of 40% and plasticity mdex of 20%. The Plastic limit of the soil will be
1.20%
2. 30%
3. 40%

4. 60%

Options :
68634085845. 1



68634085846. 2
68634085847. 3
68634085848. 4

Question Number : 62 Question Id : 68634021727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TGl & Ud A &I Gd YHT 40 HITLd SR e Yo 20% 6 | SHS! Guedl HH) o1 gl 2

1.

| ]

Lad

4.

20%

. 30%

. 40%

60%

Options :

68634085845.
68634085846.
68634085847.
68634085848.

W N =

Question Number : 63 Question Id : 68634021728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The liquad limit and Plastic limit of sample are 65% and 29% respectively. The percentage of soil fraction
with grain size finer than 0.002 mm is 24. The activity of soil sample 1s.

1;

2

L 5]

4.

0.50

. 1.00

-1.50

2.00

Options :

68634085849.
68634085850.
68634085851.
68634085852.

B WO =

Question Number : 63 Question Id : 68634021728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fS U A 1 aRerd HHT TUT Gl HH HH: 65% 3R 29% € . 0.002 A 4 312 Sl aredl gl &
321 1 U= 24 B A1 &1 & o8 AL P ishaal 31 gHil 2

1. 0.50

| ]

. 1.00
3.1.50

4. 2.00

Options :

68634085849.
68634085850.
68634085851.
68634085852.

AW N =

Question Number : 64 Question Id : 68634021729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The run off increases with

1. Increase 1n mtensity of ram

[

. Increase 1n mhiltration capacity
3. Increase in permeability of soil

4. Decrease 1n intensity of rain

Options :

68634085853. 1
68634085854. 2
68634085855. 3
68634085856. 4

Question Number : 64 Question Id : 68634021729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'3{UdT8 (Runoff) $ R sH W fdew MR H A 981 8 2
gy &1 diga & 9f& & TIY ggal g

3T T 4HdT & T1Y dgdl ol

[

]

TS B IR & 91 9l g |
4. 9N DI digal d DHHT P HY T&dT |

Options :
68634085853. 1

L]



68634085854. 2
68634085855. 3
68634085856. 4

Question Number : 65 Question Id : 68634021730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Majority of rainfall in India 1s contributed by:-

1. North East monsoon

2

. South West monsoon

. Pre monsoon rain

Lad

4. Post monsoon rain

Options :

68634085857. 1
68634085858. 2
68634085859. 3
68634085860. 4

Question Number : 65 Question Id : 68634021730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & 8 areit aui & e areH Fe E I feaerg o

1. SR gdl A
. & ot O
. gd AgH a9
4, AHYARR a9l

Options :

68634085857. 1
68634085858. 2
68634085859. 3
68634085860. 4

[ S

L ¥ ]

Question Number : 66 Question Id : 68634021731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tropical cyclones develop as a result of balance between forces of

1. Pressure gradient force (Pn) and Centrifugal (Cf) force

2

. (Pn) and coriolis force (Cn)

Lad

. (CI) and (Ch)
4. (Ch). (Pn) and frictional force

Options :

68634085861. 1
68634085862. 2
68634085863. 3
68634085864. 4

Question Number : 66 Question Id : 68634021731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Swilcddiy ashard [F9 1 9 BH § 9l & did Jgad & IRy [dhiad gid ¢ 2

1. &6 U9UIdT §d (o) Ud 3Tdg! a9 (Ch

[ ]

. &6 UauIdl dd(Pn) Ud DI dd (Ca)
3. 3Odgl dd (cp Ud DI 9d (cn)
4. BINIITET (o), 316 UFUET (Pn) TF THOT g1

Options :

68634085861. 1
68634085862. 2
68634085863. 3
68634085864. 4

Question Number : 67 Question Id : 68634021732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represents the correct order of processes involved in sedimentary rock formation?

A. Erosion

B. Weathering
C. Compaction
D. Cementation
E. Deposition

Choose the correct answer from the options given below:

1LA.B.C.D.E

| B

By A;E €, D
3.B,A.C,D.E

4 E.D.C.B.A

Options :

68634085865. 1
68634085866. 2
68634085867. 3
68634085868. 4

Question Number : 67 Question Id : 68634021732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiRed & 9 o1 91 faeed sraardt g & i wfie ukbarel & det 3 o1 UidFiYa s g

A HITgT
B. HUAU
C. g4
D. H4ioH
E. &g

1LAB.C.D.E

| ]

B.AE.C.D
3.B.A.C.D.E

4. E.D,C.BA

Options :

68634085865. 1
68634085866. 2
68634085867. 3
68634085868. 4

Question Number : 68 Question Id : 68634021733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST1I LISTII

Geological events Processes

Exfoliation dome| . |Landform change
Rift valley 1. [Ultisols
Palacomagnetism)| II1. [Mechanical Weathering

o|o|w|s=

Pedogeneris IV |Seafloor spreading

Choose the correct answer from the options given below:
1. A-I B-II. C-IIL. D-IV
2. AL B-1. C-IV. D-I1T
3. A-TIL. B-1. C-IV, D-11

4. A-IV, B-1I. C-1, D-III

Options :

68634085869. 1
68634085870. 2
68634085871. 3
68634085872. 4

Question Number : 68 Question Id : 68634021733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

= 1T = 11 ¥ e Sife

T IFTH Tt et

°cHD)
HU=eh TG | [ [eiefd | dgard
ERERIE] 1L [3rergia

EHEEET I11. [TiTTe HTEfoT
g s IV [g¥zdd URa

fFefaiad fdeeal d O Ogt 3 &1 9u- Sifou -

1. A-1. B-1I, C-III, D-IV

o o|w]»

-

CA-IL B-1L C-IV, D-III

A-IIIL B-I. C-IV, D-I1

Laa

4. A-IV. B-11, C-1, D-III

Options :

68634085869. 1
68634085870. 2
68634085871. 3



68634085872. 4

Question Number : 69 Question Id : 68634021734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following equipment 1s related to dairy?
1. Thresher
2. Lactometer
3. Cane Planter

4. Winnower

Options :

68634085873. 1
68634085874. 2
68634085875. 3
68634085876. 4

Question Number : 69 Question Id : 68634021734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafifEd ¥ 3 S 91 3B ST S gEia g 2
; W(Thresher}
 Aaee (

Lactometer)

[a—y

| ]

. ] e (Cane Planter )

Lad

4. ﬁ:ﬁm{“ﬁlﬂloﬂ'er}

Options :

68634085873. 1
68634085874. 2
68634085875. 3
68634085876. 4

Question Number : 70 Question Id : 68634021735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many agroclimatic and ecological zones have been classified by ICAR., respectively:-

1.8and 131

2

. 131 and 8
3. 15 and 131

4.21 and 15

Options :

68634085877. 1
68634085878. 2
68634085879. 3
68634085880. 4

Question Number : 70 Question Id : 68634021735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i P SR UNYE (ICAR) F GRI1 HHTT: [da- S Slqarmd! Ud Taiaruiig 38 aligd f6u
TE?

1.8 3R 131
131 3R 8
3.15 3R 131
4.21 3R 15

Options :

68634085877. 1
68634085878. 2
68634085879. 3
68634085880. 4

[ ]

Question Number : 71 Question Id : 68634021736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The microbial utilization of organics 1s

1. First order reaction

[

. Second order reaction
3. Third order reaction

4. Quarternary reaction

Options :
68634085881. 1



68634085882. 2
68634085883. 3
68634085884. 4

Question Number : 71 Question Id : 68634021736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PBIaHP AP Gerraiiae SN (49 T ¥ (69 UeR &1 sl 2

1. YyH BIfe ol
2. Tgdia @ife &1
3. qarg dife &
4. 9 Bife &

Options :

68634085881. 1

68634085882. 2

68634085883. 3
68634085884. 4

Question Number : 72 Question Id : 68634021737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements; one 1s labelled as Assertion A and the other 1s labelled as Reason R

Assertion A: Sandy soil helps promote good drainage and aeration.

Reason R: Sandy soils particles have size in the range 0.05 - 2.0mm.
In the light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. Ais correct but R is not correct

4. Ais not correct but R is correct

Options :

68634085885. 1
68634085886. 2
68634085887. 3
68634085888. 4

Question Number : 72 Question Id : 68634021737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-id g1 ©yA 3T 10 §: U HWDHUF (ASSERTION A) & w0 H ff@d § o GO 3Ud BRI (REASON R) & &0 H:

HEHYT A Jdiel el Sa-er SR ardd & gglal adl gl

HRUI R -Ydiclt fHE] & ST &1 HBR 0.05 H 2.0 mm & did BlaT 3

SR YA & P 1, Al 3T T fadpedl & U gad Suad 3ok &l 904 Diag
1. A dR R TR S 3R R, AT T T

A IR REHITT T AR R, AT T AL B

A FETUGARITTT

| ]

Cad

4 A ¥HaeTGTREAd o

Options :

68634085885. 1
68634085886. 2
68634085887. 3
68634085888. 4

Question Number : 73 Question Id : 68634021738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil erosion by wind brings about the serious damage in soil by changing the
L. soil permeability
2. soil structure
3. so1l texture
4. soil plasticity

Options :

68634085889. 1
68634085890. 2
68634085891. 3
68634085892. 4

Question Number : 73 Question Id : 68634021738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1y GR1 &1 3R Fafefad & 9 frg o1 vuifad s g1 &l iR &fd ugardi g 2

1. Jal DI YRR

| ]

R CARCE|]
S CARIGE
4. 7T g

Options :

68634085889. 1
68634085890. 2
68634085891. 3
68634085892. 4

Lad

Question Number : 74 Question Id : 68634021739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which class of land should be used for pasture and forest?

1. Capability class VIII

2

. Capability class IT to VI

Lad

. Capability class VI to VII
4. Capability class V to VIII

Options :

68634085893. 1
68634085894. 2
68634085895. 3
68634085896. 4

Question Number : 74 Question Id : 68634021739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRATE SR STd & fo1e vgad Yff &1 @il e 8 S g 2
1. Yff &mar ot v

B e o 11 VI

.y gmar @l v ¥ v

4. 0 &g v VI

Options :
68634085893. 1

| ]

Lad



68634085894. 2
68634085895. 3
68634085896. 4

Question Number : 75 Question Id : 68634021740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Engine efficiencies are not indicated by

1. Thermal efficiency

2

. Mechanical efficiency
3. Relative efficiency

4. Chemical efficiency

Options :

68634085897. 1
68634085898. 2
68634085899. 3
68634085900. 4

Question Number : 75 Question Id : 68634021740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frgfafaa 3 9 &9 91 fdwed So- goar I gmEfia 781 8 2
1. 3 SR /A S
Ti® STl
 TUfET Brermd
4. TS SEHAT

Options :

68634085897. 1
68634085898. 2
68634085899. 3
68634085900. 4

[ ]

Lad

Question Number : 76 Question Id : 68634021741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following does not hold true for Biodiesel:-

1. Monoalkyl ester

[

. Methyl ester

Lad

. Ethyl ester

4. Butyl ester

Options :

68634085901. 1
68634085902. 2
68634085903. 3
68634085904. 4

Question Number : 76 Question Id : 68634021741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafcfad 4 @ 7 91 fdew @) § T T8l € 2

1. (Monoalkyl ester) HIHIUfchd T

| ]

. (Methyl ester) HuTgd TR

Lad

. (Ethyl ester) SUIgc U

=N

. (Butyl ester) efCT5 ] UR

Options :

68634085901. 1
68634085902. 2
68634085903. 3
68634085904. 4

Question Number : 77 Question Id : 68634021742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Atractor is a vehicle designed to deliver a high tractive effort{or torgue) at slow speeds.

Reason R: Agricultural implements may be towed behind or mounted on the tractor, and the tractor may also provide a source of
power,

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both A and R are corract and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A

. Ais correct but R is not correct

L]

4. Ais not correct but R is correct

Options :

68634085905. 1
68634085906. 2
68634085907. 3
68634085908. 4

Question Number : 77 Question Id : 68634021742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

id g1 Sy 3T 10 §: U HWDHUT (ASSERTION A) & w0 H ffE@d g o §UU 3Ud HRUI (REASON R) & ¥U H:
HIHYT A 2T TS U1 dTe o ford SfTH 71T O 3= 0T T (3T 0 ) & & [ad Uiy [odl T g

DRI R :CaeX Dfdkd &1 FId W Sl & TUT 33ch TIY 1Y Sy U DY SUB0N bl Rl ol Yebdll & T3 W
HRITYA Tl S Yhdl g |

SR BYH & Halld 4, -iid [GU T famedl § ¥ 9ad 3udd 3R &l 984 DIfaU
1. AR REF T8I € AN R, AT Tel A 2

| ]

 AARREFITT § 2N R, AD U2 AT Tl o
3.4 TOE AR AT R
4 pEeOeIRTA S

Options :

68634085905. 1
68634085906. 2
68634085907. 3
68634085908. 4

Question Number : 78 Question Id : 68634021743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Power transmitted by a V-belt drive is determined by the effective pull and the belt speed. as given by the
tollowing equation:-

l. r [T."! = ;r-;)lj
1000
5 3 (B=T1¥
1000
3.;1=[El:jili
1000
4 p- (Tf _Tl}l"
1000
Options :

68634085909. 1
68634085910. 2
68634085911. 3
68634085912. 4

Question Number : 78 Question Id : 68634021743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V- dC GRT UM OTd WHTE 96 3R gee &1 111d R R Sl 81 79 5 3 1 91 9ol v- 82 gRI
YT O1d ® g2l @ -

].. I_)=[TE_?—I]1J
1000
L p (=T
1000
3 p_ -
1000
4. I:':(-F'I'!_I_‘)V
1000
Options :

68634085909. 1
68634085910. 2
68634085911. 3
68634085912. 4

Question Number : 79 Question Id : 68634021744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

HsE LISTII
Twvpe of power .transmissiou Pitch
chain
A |Bush I B2mm
B. [Silent II. [12.7 to 15.8mm
C. [Bush roller with bent plates I |15 - 100mm
D. [Hooked link-belt chain IV, 40-100mm

Choose the correct answer from the options given below:
1. A-II. B-1II. C-I. D-IV
2. A-IIL. B-II. C-IV, D-I
3. A-IV, B-I1II, C-II, D-I

4. A-I, B-11, C-III, D-IV

Options :

68634085913. 1
68634085914. 2
68634085915. 3
68634085916. 4

Question Number : 79 Question Id : 68634021744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 g= 11 ¥ e sifo

eI 1@ Ha0T 4G & UT6R ) T1(@T)
A [g%1 94 (Bush chain) L J2mm \
B. HRG 94 (Silent chain) II. [12.7 to 15.8mm
C. [Eldhd Bad & gy @W@ush roller with bent plates) |IIL |15 - 100mm
D. [3{HEMHR 44T TG 9 (Hooked link-belt chain) IV. B0-100mm

Fafafad Aol § T 9e! 3o &1 994 Sl

1. A-II. B-III. C-I. D-IV

[ ]

AL B-IIL C-IV, D-I
3. A-IV, B-III, C-II, D-I

4. A-1, B-1I, C-III. D-IV

Options :

68634085913. 1
68634085914. 2
68634085915. 3
68634085916. 4



Question Number : 80 Question Id : 68634021745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following equation 13 used to calculate the actual delivery of o1l from any hydraulic pump ?

~Dnn,,

?7 1000
nia,

2 0= 1:)60

) Dnn
=000
Dn n

ol N . .1

4 € ="1000

Options :

68634085917. 1
68634085918. 2
68634085919. 3
68634085920. 4

Question Number : 80 Question Id : 68634021745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁg@aﬁ%ﬁmmﬁwmmﬁv%mﬁmﬁ@ﬁa%wﬁﬁmﬁwémm
S g 2

Dnn,

1. Wl i |
O = 1000

D M0,

2.0 =
Or 1000

Dnn,

"= 000

D,n
1.0, =227
= 1000

Options :

68634085917. 1
68634085918. 2
68634085919. 3
68634085920. 4



Question Number : 81 Question Id : 68634021746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of sprayer?

1. High volume

[

. Low volume

Lad

. Ultra-high volume

4. Ultra-high volume

Options :

68634085921. 1
68634085922. 2
68634085923. 3
68634085924. 4

Question Number : 81 Question Id : 68634021746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 & 9 11 91 A% ed PeRS BITR & UHR B 76! Gl -

1. 3= g (High volume sprayer)

| )

. 3{eq giEm (Low volume sprayer)
3. 3{fd 3= uiREm (Ultra high volume sprayer)

4. Jfafe ufeam (Ultra low volume sprayer)

Options :

68634085921. 1
68634085922. 2
68634085923. 3
68634085924. 4

Question Number : 82 Question Id : 68634021747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTIT
Tyvpe of WT Principle of energy transmission
A Hydrodvnamic| I | Hydrostatic forces at pumps and motors transmission
B. Mechanical II. [Electromagnetic forces
C. |hvdrostatic I11. ftraction forces within friction contacts
D. [Electrical IV. Mass forces at pump and turbine

Choose the correct answer from the options given below:
1. D-III. C-IV, A-IL. B-I
2. D-1. C-II. A-TI1. B-IV

.D-II. C-1. A-IV, B-IIT

L 5]

4. D-IV, C-III. A-II, B-I

Options :

68634085925. 1
68634085926. 2
68634085927. 3
68634085928. 4

Question Number : 82 Question Id : 68634021747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy o

= 11 = 11 ¥ e Fife

RS Iﬁﬁmﬁa P | et o 3t o o e
A Edid® I [0 dyrgicd W ga®ids 9d
B [0i® 1L [[qegddred g aq
C. gadiias 111 [g80] 90@| & &g Hy ad
D. [y IV. [Ug 3R Salgd IR 5aHH 5
fafiRad faeedl ¥ 9 T8 3Tk &1 994 B -

1. D-III, C-IV, A-II, B-I

-

. D-1, C-II. A-IIIL. B-IV

. D-II. C-L A-IV, B-III

[F5 ]

4. D-IV, C-III, A-II, B-I

Options :

68634085925. 1
68634085926. 2
68634085927. 3
68634085928. 4



Question Number : 83 Question Id : 68634021748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following crops are used for producing biofuels?

A Sugarcane
B. Com
C. Potato

1. A& B only
2. A & Conly
3.B & Conly
4 AB&C

Options :

68634085929. 1
68634085930. 2
68634085931. 3
68634085932. 4

Question Number : 83 Question Id : 68634021748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[aferad o {65 Byl &1 Wai SiastH a4 & (¢18 (a1 ol g
ALTTHAT
B. Hd®h]
C. 3T,
i fau U e # ¥ udl Im & g St
1. %ad A 3R B
Had A R C
3.%adB AR C

4, A.B3RC

Options :

68634085929. 1
68634085930. 2
68634085931. 3
68634085932. 4

[ ]



Question Number : 84 Question Id : 68634021749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Integrated Nutrient Management (INM) Mycorrihiza is an indispensable agricultural input. Select
the correct benefits between fungus and root of the plant

A, mmproved supply of water and nutrients to the plants
B. Increased tolerance of plants to environment stress
C. Protect plants from soil borne pathogenic disease
D. Maintains biological health of soil

choose the correct answer from the given options below:
1.B & D only
2.A.B&Conly
3.A.B.C.Donly
4. C & D only

Options :

68634085933. 1
68634085934. 2
68634085935. 3
68634085936. 4

Question Number : 84 Question Id : 68634021749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UPIPd TN T Weed & q6d HISHRISH U Sfard Hit $9qe & | Has IR 41l Bl o8 & &g
7 ey el g 2

A. TTeff @1 OT-1 Ud iwas aail @ Sl § R
B. JO1aR0I1Y &16 & Ui Urdf &1 Jg-<iiadl 4 afa
C. Uref &1 7a1 Hd faeTl I & §=rar g |

D. &l & Siide ey ] §9Radl ol

Fio fou o e # § O I & 9 e
1. FEAB ARD

HITAB IR C

3.ABCD

4. HdAC AR D

Options :

68634085933. 1
68634085934. 2
68634085935. 3

[ ]



68634085936. 4

Question Number : 85 Question Id : 68634021750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Boron 1s an essential micronutrient for crop. Which of the following are its functions in crops?

A. Facilitates pollination

B. Aids in translocation of sugar and carbohydrate

C. Plays an important role in the proper functioning of cell membranes
D. Helps in nitrogen fixation

E. Aids in photosynthesis

Choose the correct answer from the options given below:

1. A, B. Conly

| B

.A.B.C.D only
3.A& B only

4. A.B.C.D.E only

Options :

68634085937. 1
68634085938. 2
68634085939. 3
68634085940. 4

Question Number : 85 Question Id : 68634021750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR HHd! & [ T SMaRa% Y& 9I9% dwd ¢ | BHal 0 o8P Haeead D 4 A PR 2

A. URTU T 7H &l 5 |

B. 91 3R Flalgge & MU H Yl HLdr ¢ |

C. PIfT e & wiad o & aeayn yfie Aumr gl
D. g e fUfdaxr § 0eg ol g |

E. UHTREEIY0 J Ygidl Hdl o

1. %dd AB.C
. ®dd AB.C.D
3. Had A R B

| ]

4. Pdd AB.CD.E

Options :
68634085937. 1
68634085938. 2



68634085939. 3
68634085940. 4

Question Number : 86 Question Id : 68634021751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Desertification can lead to

A. Decrease in food supplies
B. Decrease in water supplies
C. Migration

D. Loss of jobs

E. Global warming

Choose the most appropriate answer from the options given below

1.A.B.C.E only

| B

.B.C.D. E only
3.A.B.C.Donly

4. A, B. C only

Options :

68634085941. 1
68634085942. 2
68634085943. 3
68634085944. 4

Question Number : 86 Question Id : 68634021751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 famedl § 9 TeUTioy [ge] SRUT a9 9%d 87

A, @ smgfd J ol
B. 5I& Y[ § FHI
C. Jay
D. AR H AT
E. YHS qra=/diyes S
i f&u U awent # ¥ U3t 3w @1 9o @i
1. Pad AB.C.E
. %dd B,C.D.E
3. &dd AB.CD

4. &dd AB.C

Options :

| ]



68634085941. 1
68634085942. 2
68634085943. 3
68634085944. 4

Question Number : 87 Question Id : 68634021752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 18/ are correct with respect to solar cell technology?

A. Crystallme silicon solar cells have a greater market share than thin film solar cells

B. Thin film solar cells are cheaper than erystalline silicon solar cells

C. Crystalline silicon cells are more efficient than thin film solar cells

D. Both technologies operate on the same photo voltaie prineiple

E. Crystalline silicon solar cells are more environment friendly to dispose than thin film solar cells at the
end of their respective lives

Choose the correct answer from the options given below:

1. A, C.Donly

2.A.D.E only

L]

.A.B.D.E only

4. A, B. C.D only

Options :

68634085945. 1
68634085946. 2
68634085947. 3
68634085948. 4

Question Number : 87 Question Id : 68634021752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬁ;—@ﬁ(solarcell) UreifTest & g J FHEfREd O 9 S 3 $UT el € - B dieiR (S8l a7 IRd 9ik-

A. foredia IR-O9 &1 ga1 4 ¥ g

B. T TRd IR-Ia. ey 9R-8a &1 ga | sifds 9 g1

c. reedia IR-I9 B Sriemdra] Rd 9R-4d & goEd 3fiF 3 |

D. & Uit uh & wicidifeed Rsid R e et g |

E. fipediia IR-89 @1 F9ery 99 Wa GR-39 & IHed Taiavol & S4fis SApa elarg |

2 fau 7 oot & © UEl 3T & 9uA S
1. ad A.CD

. Had ADE

3.%ad AB.D.E

4. %dd AB.C.D

Options :

68634085945. 1
68634085946. 2
68634085947. 3
68634085948. 4

[ ]

Question Number : 88 Question Id : 68634021753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 1s/are true about Syngas?

AL Tt 13 a mixture of carbon monoxide & hydrogen

B. It can be easily converted into gasoline through a process called steam

C. It 15 easily storable

D. It 1s combustible and can be used as fuel in reforming mternal combustion engine.
E. Syngas has almost doubled the energy density to that of natural gas.

Choose the correct answer from the options given below:

1.A.B.C.E only

2.A B, C.Donly

I

3.B.C.D only
4. A, B. C only

Options :

68634085949. 1
68634085950. 2
68634085951. 3
68634085952 4



Question Number : 88 Question Id : 68634021753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R R A Feied A S S I ey §d © 2

A. TE DIATHHIFES SR gIZgIoH & [y 3|

B. Y19 YR AHS Hichdl o HIedH ¥ 54 ST § USid § yidldd 91 off 9l g |
C. 30 HE ¥ SufEd oS asar g |

D. T8 S5-790d & 3IR 3id: 38 5o 8 3¢ & ¥4 § gad [l ol 9 g |

E. 919 &1 FHo U@ Ui 114 & 3ol 9-ed o 4T GRHT 81l o

Fio fou o et # § O I & 9T e
1. %dd AB.CE

. %ad AB.CD

3.%ad B.C.D

4. $dd AB.C

Options :

68634085949. 1
68634085950. 2
68634085951. 3
68634085952. 4

| ]

Question Number : 89 Question Id : 68634021754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following irrigation method 1s most suitable for undulating topography:

1. Cablegation

[

. Sprinkler trrigation
3. Drip wrigation
4. Border 1rrigation

Options :

68634085953. 1
68634085954. 2
68634085955. 3
68634085956. 4

Question Number : 89 Question Id : 68634021754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(e o 9 1 <t s fafd o yardd & AT 9ed S9ged 6 °
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Options :

68634085953. 1
68634085954. 2
68634085955. 3
68634085956. 4

| ]

Lad

Question Number : 90 Question Id : 68634021755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The working efficiency per day of deshi plough 15

1.03ha

[ 2]

. 0.4 ha
3.0.6 ha

4. 0.8 ha

Options :

68634085957. 1
68634085958. 2
68634085959. 3
68634085960. 4

Question Number : 90 Question Id : 68634021755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l g & forg preraT Fafdiad § SR g 2

1.0.3 ha

[ ]

. 0.4 ha
3.0.6ha

4. 0.8 ha

Options :
68634085957. 1
68634085958. 2



68634085959. 3
68634085960. 4

Question Number : 91 Question Id : 68634021756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the hydraulic conductivity 1s 0.2 meter/day and thickness of the aquifer 15 1.5 meter, the transmissivity of the
aquifer will be

1. 7.5 meter square per day

[}

. 0.30 meter square per day

LFN]

. 30 meter square per day
4. 0.85 meter square per day

Options :

68634085961. 1
68634085962. 2
68634085963. 3
68634085964. 4

Question Number : 91 Question Id : 68634021756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1S ST Il 0.2(m/day) Hiex Uid 37 § qU Sayd &1 Gierg 1.5 Hie 8 . dl Jayd &
U UTTE T (YRIT=IdT) &1 B 2

7.5 a Hiex ufd faA
.0.30 3 TR ufet &
3. 30 97 Hiex ufer faa
4. 0.85 g7 diex ufa f&A

Options :

68634085961. 1
68634085962. 2
68634085963. 3
68634085964. 4

[a—y

[ ]

Question Number : 92 Question Id : 68634021757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following term evapotranspiration stands for the ratio between marketable crop vield and water
used in evaporation:-

1. Consumptive use efficiency

[}

. Field water use efficiency

. Water use efficiency

LFN]

4. Economic trrigation efficiency

Options :

68634085965. 1
68634085966. 2
68634085967. 3
68634085968. 4

Question Number : 92 Question Id : 68634021757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁgwmﬂﬁw-mﬁmﬁhu%mwaiﬂmm%ﬁmﬁ?ﬁﬁﬁﬁm%m
fepar Sirar g 2

1. JUUF FYTNT GafdT

. &A% e SUTRT G&fd
. SIC SUTNT G&fdT

4. Thcroodt =g g

Options :

68634085965. 1
68634085966. 2
68634085967. 3
68634085968. 4

[ ]

Lad

Question Number : 93 Question Id : 68634021758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Per capita demand of water 15 defined as the litres of water consumed daily by each person. Naturally it has to
be some average value, over a period of time. Over how much period the averaging 1s done here:-

1. 24 hours

[

. One year

LS

. 10 years

4. 35 years



Options :

68634085969. 1
68634085970. 2
68634085971. 3
68634085972. 4

Question Number : 93 Question Id : 68634021758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qﬁﬁuﬁwﬁm(pm capita demand of“ateuﬁm?ﬂﬁﬁmmmmwwﬁ
quiqﬁ‘lﬁfﬁﬁﬁ?mwﬁl WIS =0 & IHT &1 3t § 5951 $S A1Ed Hed g1 =18 Tl
3d foha T o o Sran B

1.24%¢

[ ]

U Hid

.10 HTet

Lad

4, 35 HIdd

Options :

68634085969. 1
68634085970. 2
68634085971. 3
68634085972. 4

Question Number : 94 Question Id : 68634021759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diseases 1s not caused by water pollution?

1. Typhoid

[ 2]

. Dysentry

. Malaria

Faat

4. Jaundice

Options :

68634085973. 1
68634085974. 2
68634085975. 3
68634085976. 4

Question Number : 94 Question Id : 68634021759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 & 9 oF 9 i ugfid wia 9 8 8idl 2
1. clg®Igs
A
3. Fedfan
4. Yiferan
Options :
68634085973. 1
68634085974. 2

68634085975. 3
68634085976. 4

| ]

Question Number : 95 Question Id : 68634021760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil erosion can be prevented by

L. Increasmng faunal population

[

. Afforestation
3. Removal of vegetation
4. Overgrazing

Options :

68634085977. 1
68634085978. 2
68634085979. 3
68634085980. 4

Question Number : 95 Question Id : 68634021760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
&1 & UG Pl B IepT ofl Hebell 6 2
1. Sila-sg el i oreen 4 gie |
R
. Tfd Bl geT P

4. HTEE RIS I

Options :
68634085977. 1
68634085978. 2

[ ]

Lad



68634085979. 3
68634085980. 4

Question Number : 96 Question Id : 68634021761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A new vertical single bud technique has been implemented i some areas of Punjab for sugarcane cultivation.
Which of the following statements 1s/are true about this technique

A This technique requires 85% fewer seeds than traditional method for the same field size.
B. It reduces water consumption by 50%
C. The yield 1s almost doubled

Choose the correct answer from the options given below:

1. A, B & C only

[ ]

. A only
3.A & Conly
4.B & C only

Options :

68634085981. 1
68634085982. 2
68634085983. 3
68634085984. 4

Question Number : 96 Question Id : 68634021761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Goe & o gaId! & T3 31 Gt & {1y 0o 7€ ‘aféora Riter e g an @t 7 31 59 doie &
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1. %dd AB 3R C

. Pdd A

3.PaAAARC

4. HBAAB AR C

Options :
68634085981. 1
68634085982. 2

[ ]



68634085983. 3
68634085984. 4

Question Number : 97 Question Id : 68634021762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cropping pattern is most suitable for area with less than 500 mm ramnfall:

1. Mono cropping

[

. Crop holding
3. Fallowing
4. Multi Cropping

Options :

68634085985. 1
68634085986. 2
68634085987. 3
68634085988. 4

Question Number : 97 Question Id : 68634021762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafRad o I S W B (eropping pattern) S00TEHT & &1 auf aTe &4 & [ 9a€ U@ © 2
1. T I
B il
. ORall TSl
4. SgByal

Options :

68634085985. 1
68634085986. 2
68634085987. 3
68634085988. 4

[ )

Lad

Question Number : 98 Question Id : 68634021763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Water available between field capacity and permanent wilting point is called as:

1. Gravitational water

2

. Capillary water
3. Available water

4, Connate water

Options :

68634085989. 1
68634085990. 2
68634085991. 3
68634085992. 4

Question Number : 98 Question Id : 68634021763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Lad
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Options :

68634085989. 1
68634085990. 2
68634085991. 3
68634085992. 4

Question Number : 99 Question Id : 68634021764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a secondary tillage implement?

1. Cultivator

[

. Harrow

3. Hoe

4. Meston Plough
Options :

68634085993. 1
68634085994. 2



68634085995. 3
68634085996. 4

Question Number : 99 Question Id : 68634021764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaAfRaa O O &4 91 3SR fGdias S &1 R 961 © 2
1. Peldexy

. (Harrow) 9edl /81T

- Pard

4. T §al(Meston plough)

[ )

Lad

Options :

68634085993. 1
68634085994. 2
68634085995. 3
68634085996. 4

Question Number : 100 Question Id : 68634021765 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tool 1s used for measuring the draft agricultural implements?
1. Hydrometer
2. Galvanometer
3. Pyrheliometer

4. Dynamometer

Options :

68634085997. 1
68634085998. 2
68634085999. 3
68634086000. 4

Question Number : 100 Question Id : 68634021765 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634085997. 1
68634085998. 2
68634085999. 3
68634086000. 4



